Copy and complete to give an answer in index form. Use cancelling in parts ¢ and d.

a 32x3*=3x[3xxx0]

=30
b 6*x6=6x[1x[]x[]xe6x[]x[]
= 6"
. 55;53:5><[:|><|:|><|:|><|:|
5x [ x[]
= 54
d 94;9229><|:|><|:|><|:|
9x []
= gU

Decide if these statements are true or false.
a S5X5x5%x5=5" h 20x2?=20+ C 7Px7T=7"7? d 8 +8 =82

Write the missing words or numbers in these sentences.
a When raising a term or numbers in index form to another power, the indices.
b Any number (except 0) raised to the power 0 is equal to

Copy and complete this working.

a @)=4x[Ixaxdxax]
=45

b (123)3=(12><|:|><|:l)><(12><|:lxD)x(lszxD)

= 12U

Evaluate each of the following.
a 5 b 9° ¢ (=6)° d (-3)°

e —(4%) 3\ 1y
' (4) ! (7)

Simplify, giving your answers in index form.

a 2'x2 b 5°x5° c 7*xT7 d 8 x8

Apply the index law for power of a power to simplify each of the following. Leave your answers in
index form.

a (32)3 b (43)5 c (35)6 d (’75)2

Simplify each of the following by combining various index laws.
a 4x @7

b (3")*x3

¢ 7Fs (T

d 4 =4

e (39 = (3)?



